I ¥ fx &

ClfES e iR
(Elementary Events and the Sample Space)

R B I SEE- SR - A I N
( Sample Space) -

6.1.2 3 % (Certain and Impossible Events)
3 % (Mutual Exclusive) ¥ i b4o¥tE 2 B 7| & &
BB 02 /I T e

Prlis &% 7 /% &]=0

* J
6.2 4 & ¥ & 2_ ¥ F (Probabilities for Compound Events)
# & % # (Compound Event) td & Az & Bt
S EE R m s o
MEFRaEE H 0 &2 N SmE (Unions &) o
% %2 # (lIntersection » 2 ) o pt ek o 4 % de ik jE P
( Addition Law ) ¥ 3k ;2 ;# B| ( Multiplication

Law) -

"
6.2.1 & & % & 2 &* (Applying the Basic Definition)
( %% ®6-3)
ERAEMES N BT LATE D s F ]
Pri< #3384 & 3 338 k18 4]
B

26
PrlUG U EE]= 4

— PrlUG # EE]

AR S EEES

PIr{UG N EE] = 3—‘1

Pri« &3 v 4
= PrlUG * EE]




K | |
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AR BHER  BER

6-3 PEMHNESREEE IKRAZM

" JEE
ABAAG BT R L FEAE (F) AEE
(&) “TH>hEE 2§25 FLamapF
(Joint Probability ) -
6.2.2 4r i 7 B (The Additional Law)
3REEAeEER A TN

Pr[ A & B ]=Pr[A]+Pr[B]

|
N

6.2.3 4% 2 4k 2P
(Application to Complementary Events )
¥ #Ag%rE £ (Complementary Event) - % 7% #7%
H AR F e B 8

Prl A & 2& A ]=Pr[A]+Pr[z£tA]=1
Prl[A]=1-Pr[2tA]

6.2.4 ¢ ;% ;% P)3E 3% (General Addition Law)

v iE E P R

Pr[ A & B ]=Pr[A]+Pr[B] — Pr[ANB]

"

6.2.5 $v3+ > (Statistical Independence)
PABELERF > B-FEFL BT AREY-F
A e o BT AR S Rt gb 2 (Statistically
Independent ) - ¢t = ¥ ¢ 5 B> ¥ # (Independent
Event) -

6.2.6 B ¥ #2 %ii
(The Multiplication Law for Independent Events)
FREEILBEFOBMETELESPFLEER
B g T AT

PrlA N B]=Pr[A ® B]= Pr[A] xPr[B]




6.3 % i 48 % (Conditional Probability )
i 2 4 % (Conditional Probability ) &4 &% - ¥ 2
FAaiRT > B - TR s oo
Pr[*a /g2 %% ]=090
ATFEIRGHEAL > TAFAHF
(s pFs e 5 0.90)
EBEEF AT > DERAF A E P o

&4 T

Pr{AZ'B]  Pr[ANB]
Pr[B]  Pr[B]

Pr[AB]=

6.3.1 > T2 iEdisk
(Establishing Independence by Comparing Probabilities)

+ Pr[A|B]=Pr[A] = Pr[B|A]= Pr[B] -
2 Prf[ANB]=P(A) « P(B/A)=P(A) « P(B) -
RIFEAE B & 2 5 23t b = (Statistically

Independent) -

10

" JE
6.4 FixiE P ~ BFHE P
6.4.1 % ;% i P2 3 3% (The General Multiplication Law)
Pr[A = B]=Pr[An B]=Pr[A]x Pr[B|A]
Fli ¥ 2ANBEBUAE R 1 &

Pr[A=® B]=Pr[B] x Pr[A|B]

11

" A
6.4.2 18 F A W (The Probability tree Diagram)
¥ 5 4+ (Probability Tree) » & - faA 7% 24 24 B

F23 B F AR RS 2 o % 8 ST e A P T

12




" ERET G BSR B

PrFIO] = 8
AIBHREI At
iz P

Pr{O] = 4 PHUIO) = 2

HE

Brat®R

Pr[0] X Pr[F10] = 4 X 8 = .32

Pr{O] X PriUI0] = .4 X .2 = .08

Pr{ 3F O]1x Pr{F13 O]

Pr[ 3 0]=6 Pr[F|3E O] =1 =6x.1=06
A BAEREI i
SRERPIREI A
Pr[U|3E 0]=9
Pr[ 3 O]x Pr{U|3F O]
=6x.9=54

@ 6-4 HimERaoi R

" J
6.5 % 37 L B eh3Eip)
(Predicting the Reliability of System)
Wy - BER DB LD S RIPRIFE R

o suehw 4B (Reliability) o

6.5.1 8 B % 5t (System with Series Components)
B Bk 3o (Series System) & d k¢ L H A { A2
HEAPR > MR Fers B AT R 20 ¥ 8 (T

2, 4t
f;é_,ﬁ Su oo

14

B2 FLEE ARG BRIk T
R (1) = Ry (DR, (1)...R, (t)

R, (t) = 0.90(0.80)(0.95) = 0.684

11

L] 2 S
.90 .80 95
Ry(1) Ry(1) Ry(1)

Ry(1) = 90(.80)(.95) = .684

@67 sHRHHEEES

15

“ JE
652 j"_: 3313 ,3‘ %(System with Parallel Components)

i 93 % %o (Parallel System) e pics @ R & ks

FE-HE AV ERSFEFET PP AT 8D

R il ;3 S D S S F )
Rs(t) =1-[1-R (OI1-R,(1)]...1-R, (V)]
© ArRl6-8: H ~2 7 LR 5 R(1)=0.4 > R,(1)=0.5"
Ry(1)=0.6 » 3% & stenv £ A &
Ry(t) =1-(1-04)(@-05)(-0.6)=1-0.12=0.88

16
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6.5.3 A 327 £ B 13k = (Increasing System Reliability)
1
1

RE‘TJ demHe B L R T R 0 R ST R o i

— FH Y RPA AR

2 > %, 2z % - 2
e s OEEE T RIS S 0E &3

— QfFR* ipe i~ (L¥ 37 ELRREF)

3 2 e 2 %, 2 %, s £ Y
2= 5 - W S SRR AR R

R L (L AL = 350 m 6 88 & % 4 % % (Redundant System) -

1—[1—Ry()I[1—R,(t)] =1—(1—0.8)(1—0.8) =0.96
@ 68 WRFNBES

17 18

" JEE—
[1] [z] z] Ry(r) = 684
90

80 95
(a) JREAFRAR

BE H B o
90

95 95

(ORZ2ES

+
- = . Ry(1) = 821
90 7 95

.80

(c) ZERFH

@ 6-9 MRERNRFEIREHRNTEE
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